)?]

ungroomea

T

MC/E‘&{&Tresum) dU/d 10g10 [(mSOft drop/p

Dijet selection, Forward jet, Calorimeter Based, Soft Drop § = 0.0,

:\ T ‘ T T ‘ T T ‘ T T ‘ T T ‘ T T ‘ T T ‘ T \:
09 ? —+— Dat é
0.8 —— Sherpa3s —
0.7 = —— Sherpa2 Ahadic —

= Sherp=tPythia =
0.6 — . —

= ——1 j =
0.5 L, Y —
= T =
0.4 = —
03 = =
0.2 ; é
0.1 ; é
0 E-HHHHHHHHHHHH S
1.4 = =
13 £ -3
1.2 =1 —=
1.1 = —] . _ | 1 | —;
0.9 £ | L B B t =
08 = l——' =
0.7 % é
88 ; [ ‘ T ‘ T ‘ T Ll | ‘ T ‘ T ‘ [ E
-4.5 -4 -3.5 -3 -2.5 -2 -1.5 -1 -0.5

10810 [(msoft drop / ptTlngroomed ) 2



